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AEN R SN A-ASD
ma: YAM Jbx| 228
Chelr M ASSH EEREE)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
= 111,920
& 83,940
308 AtXIEMSO0IA 195,860 440,659 A48, 799
= 111,920
& 83,940
01 AXESHNBLEEXS 195,860 440,659 AN244,79
ogLtE =3t XA 195,860
= 111,920
= 83,940
ArQkAL MARIE SO XRA(21D) 74,746 57,524 17,222
= 42,712
& 32,034
308 AtXIEtMS0IA 74,746 57,524 17,222
= 42,712
& 32,034
01 AXESHNBLEEXS 74,746 57,524 17,222
OA/F2EAr MANDIE 201 74,746
= 42,712
= 32,034
Qa2 REI|PEL(2D) 201,469 265,49 AB4,026
= 115,125
o= 86,344
403 XXM S K201 201,469 265,495 A64,026
= 115,125
& 86,344
01 AIXHHA=2E X 201,469 265,495 64,026
ot R3JIgt =4 201,469
= 115,125
& 86,344
AR BERESHE (=) 598,800 1,775,760 A1,176,960
= 499,000
= 99,800
403 XX HMS =01 598,800 1,775,760 A1,176,960
= 499,000
== 99,800
01 XISHHMAZ2E X 598,800 1,775,760 A1,176,960
OtRIEersSdHIA 598,800
= 499,000
& 99,800
ISP AAMZ THo2e(=21) 77,41 99,911 A22,500
= 63,750
= 13,661
403 XtXIHMS K201 A 77,41 99,91 A22,500
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Chelr M ASSH EEREE)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
= 63,750
& 13,661
01 AXISHHA2EE 77,411 99,911 A22,500
OzIEtZ LrE THEH22| 77,411
= 63,750
& 13,661
AR ZSMAET] (310) 2,092,000 1,963,545 128,455
= 1,290,800
o= 801,200
403 XIS MS =01 2,092,000 1,963,545 128,455
= 1,290,800
& 801,200
01 XEXIEHI 22 X 2,092,000 1,963,545 128,455
OLHE A SMAHT] =4 2,092,000
= 1,290,800
& 801,200
MESEFIHR(21) 1,146,325 1,603,139 A456,814
= 798,050
= 348,275
403 XIS MS K201 1,146,325 1,603,139 AN456,814
= 798,050
= 348,275
01 XISHHMAZ2E X 1,146,325 1,603, 139 A456,814
ottE =83l =4 1,146,325
= 798,050
& 348,275
LS MAD|BIEH(=2) 103,775 16,625 87,150
= 59,300
= 44,475
403 XX HMS K201 A 103,775 16,625 87,150
= 59,300
= 44,475
01 XISHHAI2E X 103,775 16,625 87,150
OY4ts MaD|gtxd 108,775
= 59,300
= 44,475
SHECH2E X2 (=21) 1,164,479 661,066 503,413
= 1,072,547
& 91,932
403 XXM S K201 1,164,479 661,066 503,413
= 1,072,547
& 91,932
01 XIXISHHA=2E X 1,164,479 661,066 503,413
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Chelr M ASSH EEREE)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
403 XXM S KH=01& 39,000 46,800 AT,800
= 30,000
= 9,000
01 XIXISHHA=2E X 39,000 46,800 27,800
OSMEHBUA(FAUHIR) B2 39,000
= 30,000
= 9,000
STHASAIESsH=1) 92,000 92,000 0
= 80,000
& 12,000
403 XXM S KH=201& 92,000 92,000 0
= 80,000
& 12,000
01 IXIHH K22 X 92,000 92,000 0
OSMASHAIE SHat X& 92,000
= 80,000
= 12,000
STHAM AR (21) 272,205 272,094 111
= 209,390
= 62,815
403 RXIHMSK=201H 272,205 272,094 111
= 209,390
& 62,815
01 XN A2E X 272,205 272,094 11
O=SM==X & & 2l 272,205
= 209,390
< 62,815
Fetd SHHAH(=D) 206,440 0 206,440
= 158,800
= 47,640
308 AtXISHMS0IH 206,440 0 206,440
= 158,800
o= 47,640
01 AXISHHBAEES 206,440 0 206,440
Ozletd STHM A 206,440
= 158,800
& 47,640
UHAIAHEE BE2(=21) 100,750 149,500 A48,750
= 77,500
= 23,250
403 XX HMS K201 A 100,750 149,500 A48,750
= 77,500
& 23,250
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AEN R SN A-ASD
I &S| O £ D3t
Bl Mg ASE (Gt ®2)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
01 AXISHHA=2EXE 100,750 149,500 48,750
OoZHIIAHEH 22 100,750
= 77,500
S 23,250
STHOIZIISXIE (HEAI) 5,676,000 2,580,000 3,006,000
403 MR EHHMSKH=0lH 5,676,000 2,580,000 3,096,000
01 MHXIHHAZE X 5,676,000 2,580,000 3,096,000
OZH SHISHMEE =8 (HE 1,032,000
OBY SHRSINEE =d(HE) 2,064,000
OLN SHESHNEE =d(HE) 1,290,000
O1Nd SHIHEE & (™) 1,290,000
LUR2d X422 (MeAY) 344,000 490,000 A 146,000
403 MR EHMSAH=01H 344,000 490,000 146,000
01 MHXIHHAZE X 344,000 490,000 146,000
OY=F Le2d(dEh) 86,000
Sofl LIPS (Me) 86,000
OggE RS- (Me) 43,000
OBFE UR2d (e 43,000
O LIPS (HE) 86,000
NS STAF (1) 3,250,000 0 3,250,000
= 2,500,000
= 750,000
403 MXIEHMS =201 3,250,000 0 3,250,000
= 2,500,000
= 750,000
01 XM= E X 3,250,000 0 3,250,000
O=U=M SxAHF &AH 3,250,000
= 2,500,000
= 750,000
SHESIEAl ZEMSE(2D) 975,000 0 975,000
= 750,000
= 225,000
403 AXIEHMSA=Z01A 975,000 0 975,000
= 750,000
= 225,000
01 IXISHX2EE 975,000 0 975,000
OSTHEISIEAl ZHEALY 975,000
= 750,000
S 225,000
srgkst 258 XIRHE (2 2) 4,500,000 0 4,500,000
= 3,000,000
[ 1,500,000
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AEN R SN A-ASD
ma: UM Jbx| 228
el MERS - FY Y (Ete M)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
11 HALAHIXIR = 10,680 0 10,680
O/HEMEN0IS HEEH 10,680
AEMEOS 2Z0UM(=2) 230,100 287,300 57,200
= 177,000
= 53,100
308 AtXISHMS0IH 230,100 287,300 Ab7,200
= 177,000
== 53,100
01 IXSHHBAEELS 230,100 287,300 AB7,200
OLHEMENOIE 29 LN 230,100
= 177,000
& 53,100
AE=EXI2Rte] 2G(HEAY) 493,852 493,852
308 AHXISHMSOI& 493,852 493,852
01 AXEHBAEES 493,852 493,852
O=Mef2e|el (&) 9,027
O=ZLSARITAHE ) 150,900
O A=K & (X&) 205,771
O W=3ACIUIOIH (X&) 41,154
MEEX LR 2H(=1) 58,415 42,873 15,542
= 34,362
= 24,053
308 AtXISHMSO0I A 58,415 42,873 15,542
= 34,362
== 24,053
01 IXSHBAEES 58,415 42,873 15,542
== ACIUI0IH 58,415
= 34,362
& 24,053
=old 29(=31) 511,697 361,389 150,308
= 300,993
< 210,704
308 RtXISHHMSO0IH 511,697 361,389 150,308
= 300,993
< 210,704
01 AXSHBLEES 511,697 361,389 150,308
O=dild =29 511,697
= 300,993
== 210,704
S0z s 29(=31) 609, 162 430,235 178,927
= 358,325
& 250,837
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AEN R SN A-ASD
ma: UM Jbx| 228
ool MEERE - 7Y F2 (S &)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
01 XtXIEHHI A= 2 = 130,000 1,300,000 1,170,000
OFN LAY L= T4 (HEt 130,000
At MEY - 2 Jls B2 8,163,161 8,371,660 A208,49
= 286,565
| 5,030,000
= 2,846,5%6
S Y ArEetEa T4 (MEANY) 195,000 325,000 130,000
403 XX SHHMSKZ01A 195,000 325,000 130,000
01 XtXIEHHI A= 2 = 195,000 325,000 130,000
OdF =3lits == 22H(HEH 65,000
OZE £&8+=3 B2(HE) 65,000
oL == B2H(NE) 65,000
SSHEA 2L (HEAIY) 195,000 195,000 0
403 XtXIHMS =01 A 195,000 195,000
01 XtXIEHMIAH= 2 = 195,000 195,000
Ost& E10| SSHMIA(XNE) 195,000
ADIEDE XA (=212) 305,500 260,000 45,500
= 235,000
< 70,500
403 XX SHHMS K201 305,500 260,000 45,500
= 235,000
== 70,500
01 AIXIHA K22 X 305,500 260,000 45,500
OADIEIE XA 305,500
= 235,000
& 70,500
THASR X4 (HEAIY) 1,300,000 1,950,000 A650,000
403 XX SHHMSKZ01AM 1,300,000 1,950,000 A650,000
01 XtXIEHHIA =2 2= 1,300,000 1,950,000 A650,000
Ogd NMAZ22 T4 (M8 1,300,000
MEUXSE AMH22(=1) 4,550,000 3,900,000 650,000
| 3,500,000
== 1,050,000
403 XX HMSAH=01H 4,550,000 3,900,000 650,000
| 3,500,000
& 1,050,000
01 MIXHAMA=2EX 4,550,000 3,900,000 650,000
Oallf -2 32 x4 4,550,000
| 3,500,000
= 1,050,000
AAHE =MB2 =& (=) 1,530,000 1,677,000 A147,000
| 1,530,000
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AEN R SN A-ASD
ma: UAM Jbx| 225
ool Bassd 2 24 (9 ® )
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
ZHEES X2(=212) 5,691,841 4,783,860 907,981
= 4,394,314
= 1,297,527
403 XtXIHMS K201 A 5,691,841 4,783,860 907,981
= 4,394,314
< 1,297,527
01 MXIHAHA2EZ 5,691,841 4,783,860 907,981
OZME =4 5,691,841
= 4,394,314
= 1,297,527
ez F=X(21) 492,789 331,006 161,783
= 492,789
206 =4I 499,789 331,006 161,783
= 492,789
01 M=l 492,789 331,006 161,783
or=+4 49,789
= 492,789
Zuexg XA(=21) 720,969 1,000,329 A279,360
= 440,871
= 280,098
403 RtXIHMS K201 A 720,969 1,000,329 A279,360
= 440,871
< 280,098
01 XXt A= 2 = 720,969 1,000,329 A279,360
O2UERx™ 720,969
= 440,871
== 280,098
NG SESEE F8(=21) 273,212 209,859 63,353
= 273,212
206 =4l 273,212 209,859 63,353
= 273,212
01 M=l 273,212 209,859 63,353
OXNZEstxE =& 273,212
= 273,212
NG S Eg X2 (=21) 1,242,078 1,158,914 83,164
= 898,597
& 343,481
403 XXM S K=01& 1,242,078 1,158,914 83,164
= 898,597
= 343,481
01 XtXIEHHI A= 2 2= 1,242,078 1,158,914 83,164
OXgEs2g XA 1,242,078
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AEN R SN A-ASD
ma: UAM Jbx| 225
HRlr BASsd 2l X4 EERCE))
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
= 898,597
& 343,481
LIS =~8I0 =4 =X(=21) 91,732 75,415 16,317
= 91,732
206 =4I 91,732 75,415 16,317
= 91,732
01 M=l 91,732 75,415 16,317
oR=27g = 91,732
= 91,732
a8t =4 XJA(=21) 492,878 411,565 81,313
= 357,968
= 134,910
403 XIS MS =01 492,878 411,565 81,313
= 357,968
o= 134,910
01 XISHHAIZ2E X 492,878 411,565 81,313
Ozt~ =4 492,878
= 357,968
& 134,910
OIME XN Z8(=21) 1,228,571 1,043,900 184,671
| 945,054
= 283,517
403 XX HMS =01 A 1,228,571 1,043,900 184,671
| 5,054
= 283,517
01 AXIHAMA2EE 1,228,571 1,043,900 184,671
OO0IMSH X M2 =& 1,228,571
| 945,054
= 283,517
SEAZEZELEHR(ZD) 4,159,591 3,958,888 200,703
= 3,656,257
= 503,334
403 RtXIHMS K201 A 4,159,591 3,958,888 200,703
= 3,656,257
= 503,334
01 XIXISHH =22 X 4,159,591 3,958,888 200,703
oW A HALHT] 4,159,591
= 3,656,257
== 503,334
NMZLIGHA SREE FA(=1) 6,419,145 447,446 5,971,699
= 6,419,145
206 =4l 6,419,145 447,446 5,971,699
= 6,419,145

-714 -




AEN R SN A-ASD
ma: UAM Jbx| 225
ool Bassd 2 24 (9 ® )
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
01 = 6,419,145 447,446 5,971,699
Ot =l =1L 257 6,419,145
= 6,419,145
AETOHK S22 X(=1) 3,852,001 3,764,814 87,187
= 3,053,3%
= 798,646
403 TS =01 3,852,001 3,764,814 87,187
= 3,063,35%
S 798,646
01 AXISHAZE X 3,852,001 3,764,814 87,187
OM= LN S+AE NH 3,852,001
= 3,063,355
& 798,646
MR = (=1) 5,000 5,000 0
= 2,500
= 2,500
202 04l 5,000 5,000 0
= 2,500
= 2,500
01 LI 5,000 5,000 0
O=ItRIIME & N=HA 5,000
= 2,500
= 2,500
MR X&(=12) 29,560,844 30,713,243 1,152,399
= 22,739,112
= 6,821,732
403 AXIEHHMS =201 29,560,844 30,713,243 1,152,399
= 22,739,112
= 6,821,732
01 X HHAZE X 29,560,844 30,713,243 1,152,399
OFHM=IHI| XI& 29,560,844
= 22,739,112
= 6,821,732
IS8R R (=21D) 3,441,973 3,965,274 /523,301
= 2,659,981
[ 781,992
308 AHRIEHMISO0IA 3,441,973 3,965,274 523,301
= 2,659,981
S 781,992
01 MXHHBSEXS 3,441,973 3,965,274 523,301
OZ3&E IR XA 3,441,973
= 2,659,981
== 781,992
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AEN R SN A-ASD
ma: UAM Jbx| 225
ool Bassd 2 24 (9 ® )
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
OIMIZX M2 & 391 01(21) 2,497,888 1,762,800 735,088
| 1,921,452
= 576,436
403 XtXIHMS K201 A 2,497,888 1,762,800 735,088
| 1,921,452
< 576,436
01 XISHHAIZ2E X 2,497,888 1,762,800 735,088
O3A=0t10| 2,497,888
| 1,921,452
== 576,436
MERH SMZt Y 10,817,775 12,680,850 A 1,863,075
s 3,000,000
| 3,150,000
= 4,667,775
stEisXl2te] Bo2d=a 6,400 6,400
201 LEr2AH| 3,000 3,000
01 AtR2telt| 3,000 3,000
OfI%s L JI=kE =9 S 3,000
202 o4t 3,400 3,400
01 =WHO4HI 3,400 3,400
OdE =20t RF& 3,400
KNXH A ZESE (HSALY) 2,741,375 4,324,450 1,583,075
403 XX SHHMS K201 2,741,375 4,324,450 A1,583,075
01 XXM A= 2 2= 2,741,375 4,324,450 1,583,075
O=MNXI=(HEH 585,000
oK BRA(XE) 494,000
OMEsA=(NE) 130,000
OYEtZ4=(& 3t 381,875
O¥EBIIZ=(X8t) 325,000
O&tu=(XMst) 156,000
OMETH=(XEH 650,000
Osghtedats(da 19,500
IEUE EA=E 24(=1) 3,705,000 1,820,000 1,885,000
| 2,850,000
< 855,000
403 XtXISHHSAHE0|IA 3,705,000 1,820,000 1,885,000
| 2,850,000
== 855,000
01 AIXIHAKA2E S 3,705,000 1,820,000 1,885,000
OJIFUS TAl= =4 3,705,000
| 2,850,000
& 855,000
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AEN R SN A-ASD
ma: YN Jbx| 228
CHOl: MER =MTI XA (SHol: &)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
CAbtEZE 2d(=21) 3,900,000 5,850,000 A1,950,000
= 3,000,000
S 900,000
403 AXIEMSA=01A 3,900,000 5,850,000 1,950,000
= 3,000,000
= 900,000
01 A= 2L 3,900,000 5,850,000 1,950,000
O AHEE= &4 3,900,000
= 3,000,000
[ 900,000
ety Jels 24(=1) 390,000 650,000 /260,000
7l 300,000
= 90,000
403 XIS =201 390,000 650,000 260,000
Jl 300,000
S 90,000
T AR SH A 22 2 390,000 650,000 /260,000
OXtH et Jdels &4 390,000
Il 300,000
& 90,000
MESE FA - 2t 50,000 30,000 20,000
403 AXIEMSA=201H 50,000 30,000 20,000
01 HXIHHAZ2E X 50,000 30,000 20,000
outsE3sd =Xl - 22 50,000
2= R - 2L 25,000 0 25,000
403 XA EMS =01 25,000 25,000
01 A= E X 25,000 25,000
@itz RAI - 2 25,000
profRHe =& 16,250 2,086,018 /2,069,768
srort AR =8 16,250 12,250 4,000
201 Ler=2a| 6,250 2,250 4,000
01 At22teld] 6,250 2,250 4,000
OXZ2le #H+g & 2= MA 6,250
202 04| 10,000 10,000
01 =LHObI 10,000 10,000
Odterztd Reg= Xl 54 10,000
HY2EIH(AHASD) 119,926 165,840 A45,914
= 45,706
S 74,220
eI 2E 65,636 104,209 N\38,573
= 45,706
= 19,930
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